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initial HI—NETZERAREICLET,
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(BEE—F) -BxEBREE OQXB-2%B)
- NR[EHR - ERAER
- BEAK S IEEEAR
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- 245K 448K
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- BIERE
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hrecvx RENY I FHIORETRIERYHLET,
(RET—HEN0DZET 2 IMYHLET,)
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4. F0J5L¥VT I

4. 1 CEEYINL

main ()

int
int
char
int
char
int

/] —

chn
sts =

chn, sts, mode;
ioadr[4];
id1[50],
prot, bps;
dt[1000];
em, rin;

=0;
initial (chn) ;

if (sts & Oxff) {
printf ( “Initial Error St = %x¥n” , sts);

exit(1);
//—EfA—T
idi[0] = %0 ;
id2[0] = %0 ;
mode = 0
prot = 2
bps =

sts = bscopen (chn, idl, id2 mode,

if

//—T—32E
do{

do{

( sts =! 0x0000) {

mmﬁ(f@ﬁT—jyli— sts = %x¥n”

exit(1)

sts = hrecv &#W7¢ﬁ9
}while(sts =

if ((sts & 0x8000) = 0x8000) {;

printf (" SEITT— sts = Wx¥n”

break;

rin
em

sts & Ox1fff;

switch (em) {

case 0x00
case 0x01

printf ( “BIEF—4%

break;
case 0x02

printf( “EOT=E¥” );

break;

}
} while (em 1= 0x02) ;
chelose (chn) ;

id2[50] ;

HI-NETDA > v 54X

(sts / 0x2000) & 3;

(BSCFIETT—42212)

prot, bps);

, sts)

: %s¥n” | dt);

, sts)

([EOT] & RMET S E TRIETHEYIRT)
memset ( dt, 0, sizeof(dt));

//—ERT 5F v I
/—H 1 —NE T O#IEHE

//—1Ds&%E

//—EsE—K
//—SYN Izt (S ERmIED)
/=58 (9600bps)

/=B —T>
//=%5
//—I5—HmwR

//—F—2E0IE
/| — R F DS

/ /—EEI3x=F[ETX] [ETB]
—ZETF—ART

//—[EOT] %24=

//—Egs n—x




4. 2 BASICHYTIL (BSCFIETT—4E23ZE)

‘“HI-NETOA=v354X
CHN% = 0 AT EF I
STS% = initial (GHV%)
IF STS% <> 0 THEN
PRINT “Initial Error St =" ; STS%

EXIT DO
END IF
‘ [EgA—T
ID1§ = CHR$ (0) ‘— 1 D&E
ID2$ = CHR$ (0)
MODE% = 0 —EE— R
PROT% = 2 ‘— SYN Rzt (VSRR
BPS% =6 “—3B(=5&FE (9600bps)
STSY = bscopen (GHVG, ID1S, [D28, MODEY, PROTY, BPS%) ‘—EgA— T
IF STS% <> 0 THEN
PRINT “[ElfgA—F>T5— SIS =" ; HEX$ (STS%)
EXIT DO
END IF
‘—ﬁﬁﬁﬁﬁ ([EOT]1 Z&3ET HFETREERYIRT)
DT$ = STRING$ (1024, CHR$ (0)) —BEXEFRIDT ) TRER
DO
STSY = hrecv (GHVY, DT$) ‘=z
LOOP WHILE STS% = 0
IF (STS% AND &H8000) = &H8000 THEN —IS5—HERER
PRINT “=EST5— STS =" ;HEX$ (STS%)
EXIT DO
END IF
RLN% = STS% AND &H1FFF B L B 10)): ¢
EM% = (STS% / &H2000) AND 3 —RYIXF O
SELECT CASE EM%
CASE 0,1 : —RYIXF[ETX] [ETB]
PRINT “SE5—4 : 7 ;LEFT$ (DTS, RLN%) —=ET—A%E
CASE 2: ‘—[EOTI %3242
PRINT “EO T={E”
END SELECT
LOOP UTIL EM% = 2
STS% = chelose (GIVG) —Es 0—x
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